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April 29, 2008

FE-214 Second Examn
Name: Univ. No. Section:
(J6) The Laplace transform of the [
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Electrical Engineering Department
2™ Examination

EE214 ' Circuits I1 29 Jul. 2008
Q1 1omarks)

Find all the critical frequencies of theifatio V(s)/I;, for theyeircuit shown, and sketch the
magnitude of the ratio as a function of o

)2 (10marks)
(a) Find L4 and Vs for the circuit illustrated in the following figure
(b) Repeat if a 6 Q resisior is conaected between the terminals at the right

100

Ly—

: 100@\!@01 5H
w =5 rad/s ‘ \

A

Q3 (10marks)
Use several operational amplifiers in cascade to realize the transfer function H(s) = Vour /
Vin = 100 (s+100) / (s+1000)



